Argonne Scan anl2108Mv on 20011108 with CF ID = 14

ModuleHisto
0.2 F ANAZZTXSE 7195.5
il
016F- [RMS v _=0.01509
0.14F
0.12F

0.1
0.08
0.06
0.04
o02| L_200=0.0738 (o)

0 1 1 1 1 1 N 1 N 1 N 1 N 1 N
0 50 100 150 200 250 300 350 400
FiberHisto

0.2 V’\V/Izr:rl:x5:57236.9

e

0.16

0.14

0.12

0.1

0.08

0.06

0.04
L_200 F=0.0789

0.02
0 n Y n Y n L | -
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent =6
12} 1 Mean = 4.333
£ RMS = 1.972
s L
o L
#* -
0.8
0.6
0.4
0.2+
114 4 NN PR S N I B
0 5 10 15 20 25
Strip ID

Fri Jul 26 13:28:04 2002

L200 per strip

# Strips

# Strips

L200s
Nent = 16
Mean =0.07211
RMS =0.01173
3
2.5
2F
1.5
1=
0.5
N A T L L
0 0.02 0.04 0.06 0.08 0.1 0.12
L200
L200 Fiber per strip | 2007s
Nent = 16

Mean =0.07729
RMS = 0.01296

0 0.02 0.04 0.1 0.1
L200F
30 pc Deviants D30pc
Nent=5
2] 1 Mean = 5
= RMS = 1.414
z L
o -
#* -
0.8~
0.6~
0.4
0.2~
oL FEFR U Y SN U EU U RIS R
0 5 10 15 20 5
Strip ID

L200 vs Strip

L200Strip
Nent = 16
80'12 Meanx = 8.5
g Mean y = 0.07211
RMSx = 4.61
0.1 RMSy =0.01173
0.08
0.06
0.02
) I I I I R B
0 5 10 15 20 25 .
Strip ID
L200 Fiber vs Strip ] L200FStrip
Nent = 16
%0'12_ Mean x = 85
Q - Mean y = 0.07729
— - n RMSx = 4.61
01 RMSy =0,01206
B Emg ®E
0.08[~ u um
08[T........ o LI e
- L
B u
0.06|- HHE
CM oo __
004F - = - = - = s i m e m e m i m i m e m e m =
0.02[—
) I I PR S EFEEI R
0 5 10 15 20

0.09—

0.08—

0.07—

0.06[—

100

150

200 250 300 350 400
Distance (cm)




Argonne Scan anl2108Mv on 20011108 with CF ID = 14

.

Integral pe
o
o [
= N

o
o
]

o
o
=

o
o
o

o
a
o

o
o
° >
III|III|III|III|III|III|III

100 150 200 250

300 350 400
Distance (cm)

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

o
a
o

100 150 200 250

i

300 350 400
Distance (cm)

Integral pe
o
o N
- N

o
o
©

o
o
=

o
o
o

o

o
o
° 5
III|III|III|III|III|III|III

50 100 150 200 250
Fri Jul 26 13:28:01 2002

300 350 400
Distance (cm)

Integral pe Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

0.12

0.1

0.08

0.06

0.04

0.02

i

L | L | L | L | L | L | L | L |
50 100 150 200 250 300

400
Distance (cm)

i

3]
o

100 150 200 250 300 350 400
Distance (cm)

o
3]
o

100 150 200 250 300 350 400
Distance (cm)



Integral pe

o

Integral pe

Integral pe

Argonne Scan anl2108Mv on 20011108 with CF ID = 14

0.12

0.1

0.08

0.06

0.04

0.02

Integral pe

o

a
o

300 350 400
Distance (cm)

0.12

0.1

0.08

0.06

0.04

0.02

Integral pe

o

a
o

[
(SR

300 350 400
Distance (cm)

o
[
N

o
[

o
o
©

o
o
=

o
o
o

Integral pe

o

o
o
° 5
III|III|III|III|III|III|III

300 350 400
Distance (cm)

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

o
3]
o

(BN
o

o
3]
o

=
N

/

o
3]
o

300 400
Distance (cm)
1 L 1 L 1
300 350 400
Distance (cm)
| ' | ' 1
300 350

400
Distance (cm)




Integral pe

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

o
[
N

o
[

o
o
©

o
o
>

o
o
=

o
o
o

o

o

Argonne Scan anl2108Mv on 20011108 with CF ID = 14

100 150 200 250 300 350

a
o

400
Distance (cm)

o

a
o

100 150 200 250 300 350 400
Distance (cm)

RN R N RN RN NS N I I

o
III|III|III|III|III|III|III

50 100 150 200 250 300 350 400
Distance (cm)

Fri Jul 26 13:28:02 2002

Integral pe

Integral pe

0.12

0.1

0.08

0.06

0.04

0.02

0.12

0.1

0.08

0.06

0.04

0.02

0.1

0.08

0.06

0.04

0.02

o

3]
o

100 150 200 250 300 400
Distance (cm)

o

3]
o

100 150 200 250 300 350 400
Distance (cm)

ModuleHisto_pfx
Nent = 485

Mean = 196.5
RMS = 99.46

L_200=0.074

50 100 150 200 250 300 350 400



Argonne LI Scan for anl2108Mv
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